Answer the following questions based on the following information:  Please provide a step by step explanation.
 

	Data are in Trillions of Dollars

	Personal consumption expenditures                  $3.0

	Net private domestic investment                         1.4

	Depreciation                                                        0.2

	Government purchases of goods and services    2.0

	Exports                                                                0.5

	Imports                                                                0.3

	Foreign factor income                                         0.1


 

a.       i.          Compute the GDP 

ii.          Compute the net exports

 

b.      Assume the government cuts its purchases by $120 billion. As a result, the budget deficit is reduced by $40 billion, private domestic saving decreases by $10 billion, disposable personal income decreases by $80 billion and the trade deficit is reduced by $15 billion. By how much has national income (Y) changed?
 
c.       Suppose that the economy starts at equilibrium and the MPC = 0.75. What would be the effect of a $300 increase in government spending once all the rounds of the multiplier process are complete?
d.      Suppose that the economy starts at equilibrium and the MPC = 0.8. What would be the effect of a 300 increase in taxes once all the rounds of the multiplier process are complete?

